





THE GRAPHIC METHOD [+ p 260

The geometric interpretation of linear programming leads to a geometric procedure for solving
LP problems with two variables. For illustration, let us consider the problem

maximize Ve, B
subject to vy + x, < 14
—x; +2x, < 8 (17.4)
2x; — x, <10
X;. X2 = 0.

Its region of feasibility is shown in Figure 17.7. together with the hine representing all the points
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4. Consider the following linear programming problem:

maximize x1 + 2%
subject to x1+ a2 <5

I =
) S 3
X1,Ty = O

(a) Solve the above problem and give also the dictionary at the optimal point.

(b) Suppose the constraint x; + x5 < 5 is changed to x1 + x5 < p. Find the range of

p such that the dictionary you have found in (a) remains optimal.

(c) Suppose the objective function x; + 2x5 is changed to x; + gzs. Find the range

of ¢ such that the dictionary you have found in (a) remains optimal.
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